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Question Number : 1 Question Id : 9497305578 Question Type: MCQ Option Shuffling : Yes
Correct : 1 Wrong: 0.25

Showing a photograph. Dhanush told Karthik. “His father is the only son of my mother”.
Based on the given statement how 1s the man in the photograph related to Dhanush?

Options:
1 % Dhanush himself

- % Dhamush' brother



= « Dhanush's son
4 % Dhanush's father

Question Number : 1 Question Id : 9497305578 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25
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Question Number : 2 Question Id : 9497305579 Question Type: MCQ Option Shuffling.: Yes
Correct : 1 Wrong: 0.25

I. A -+ B means A is the brother of B.
II. A* B means A is the daughter of B.
III. A ~ B means A is the sister of B.

Based on the above statements. which of the following shows that P is the maternal uncle
of Q7

Options:

L% PAR*Q

5 v Q # R i P

5% PTRYQ
4% Q*RAP

Question Number : 2 Question Id : 9497305579 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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.« P+R=+Q

,%x Q+R+P

Question Number : 3 Question Id : 9497305580 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Based on the given analogy. determine the missing munber.

0:25::49:7?
Options:
i % 3'5

O 64
81
4 % 100

[N}

Question Number : 3 Question Id : 9497305580 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

feT 31T @®eT & IR 9T, TMTE T&AT & Al H|

9:25:48 : 7
Options:

1. % 36

o % 64

3 v 81

4 % 100

Question Number : 4 Question Id : 9497305581 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Based on the given analogyadetermine the missing number.

Tl 331 ¢2
Options:
i =4 3'5

39
33
37

I'\\:I
$2

3 ®
4 o

Question Number : 4 Question Id : 9497305581 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

BT 71T FET & MU 9T, TMUS HEAT H AT i

7z 0T =31 5 2
Options:

1. % 36



- % 39
z % 33
g o 3?

Question Number : 5 Question Id : 9497305582 Question Type: MCQ Option Shuffling : Yes
Correct : 1 Wrong: 0.25

Based on the given analogy. determine the missing word.

Army : Soldier :: Galaxy :
Options:
1 % Planet

> % Satellite

% Meteor

L

4 « Stars

Question Number : 5 Question Id : 9497305582 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

feT =TT O T & HUW 9T, IS A AT FL
T ;- B o2 HTEREET

Options:

1 &% g
> # 3949g
5 % SRl

Question Number : 6 Question Id : 9497305583 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Based on the given analogy. determine the missing word.

Statue : Size :: Songy
Options:

, % Lytics

> « Tune

5 % Singer

4 u Poeuy

Question Number : 6 Question Id : 9497305583 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

T Iv AT & N 9T, IS A F AT FL
= iT=p =1 B 1 o el 1 e i



Options:
1, * STel

o o Ei;r

3 % AR
4 # FTH

Question Number : 7 Question Id : 9497305584 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

Count the number of triangles in the given figure.

Options:
1 & 8

o oR 10
= o 132
4 ® 14

Question Number : 7 Question Id : 9497305584 Question Type: MCQ“Option Shuffling: Yes
Correct : 1 Wrong: 0.25

ﬁ'l:f?l‘l:rﬁrnrﬁﬁrad‘i # FEIT AT FH

Options:
1. % 8

> % 10
7 o 12
4 % 14

Question Number : 8 Question Id : 9497305585 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which letters in the English alphabet look the same even after half a turn (180°)?

Options:
, # X.OOM.L

o ¢ X.0.8N
s 8 X.O.V.K
48 X.O.K.M



Question Number : 8 Question Id : 9497305585 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

3T AT H FITH HeW Hegeara (180°) THS WY Ta THA &

feamg &2

Options:

L& X, 0, M L
oo x: O‘I‘ S: N
s % X 0,V, K
L% X 0, K M

Question Number : 9 Question Id : 9497305586 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

In the given options. three words are similar in some context and one word 1sdifferent,
Choose the word which 1s different from the rest.

Options:

1 % Rain

- « Cloud

2 % FOB
4 % Mist

Question Number : 9 Question Id : 9497305586 Question Type: MCQ Option Shuffling : Yes
Correct : 1 Wrong: 0.25

fer a7 Rereat &, 99 e FEr g8y & gA § 3T UF oS 3T gl
38 e H TA S T H AT g

Options:

1 8 IuT
o o Sigel
5 % SPIgT
4 % 3

Question Number : 10 Question Id : 9497305587 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In the given options. three pairs are similar in some context and one pair 1s different.
Choose the pair which is different from the rest.

Options:
1 # Lions-Roar

- % Snakes-Hiss

% Bees-Hum

Ll

 Frog-Bleats



Question Number : 10 Question Id : 9497305587 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

fT 7 et &, &7 2 & g2 & A § 3k uw StEr s B
38 SIS & I S 3T H O g

Options:
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Question Number : 11 Question Id : 9497305588 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

In a certain code if LIPSTICK is written as 12345678 and NAITL POLISH is written as
12345678910. How 1s MAKEUP written m that code?
Options:

1. ® 654321

% 541236
@ 123456
4 % 123654

I'\_:I

il

Question Number : 11 Question Id : 9497305588 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

&g g & 3fe LIPSTICK #T.12345678 for@r =mar & 3T NAILPOLISH
FI 12345678910 for@r =ramr &, &1 35 FT # MAKEUP F& Rrgr smeem?

Options:

1. % 654321
> # 541236
= v 123456
4 % 123654

Question Number : 12 Question Id : 9497305589 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Choose the correct option that completes the pattern.

122453064860.1122334455. 1020304050,

Options:
1« 918273645

5 % 918273644
5 % 918273643
4 % 918273642



Question Number : 12 Question Id : 9497305589 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

F‘é’l‘ﬁ*wﬁgﬁa‘rwﬁﬁaﬁtﬁaﬂl

1224364860, 1122334455, 1020304050,
Options:

1« 918273645
> # 918273644
= # 918273643
4 % 918273642

Question Number : 13 Question Id : 9497305590 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which of the following pictures are symmetrical when cut along the dotted line?

1 2 3 4

Options:
. o 1.2 and 3

| ]

.3and 4
3.4 andl
4 ¢ 4 land2

Question Number : 13 Question Id : 9497305590 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

éer @ #r e # ¢ s W 37 TE 7 ¥ A ARG JhA

Options:

L% 1,2 3T 3
5w 2, 33T 4
2% 3,431
44 1372



Question Number : 14 Question Id : 9497305591 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

In the given options. three pairs are similar in some context and one pair 1s different.
Choose the pair which 1s different from the rest.
Options:

1 # Man-House

% Bird-Nest

[

= « Lion-Forest

4 % Horse-Stable

Question Number : 14 Question Id : 9497305591 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

T 71T Feedr &, Ji A2 & g2 & A £ 3k s SEr e g
38 SIS & I S 3T H O g

Options:
| % IIF:_""EI' - EX
5 x T&T - ETHeT

5 o AT - ST
4 % ENST - HEd9oT

Question Number : 15 Question Id : 9497305592 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In the given options, three words are$imilar in some context and one word is different,
Choose the word which 1s different from the rest.
Options:

1 # Car

- % Truck

5 % Ilrolley

4  Sledge

Question Number : 15 Question Id : 9497305592 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

BT 71v el #, 37 oreg 50T O3 7 @3 # 3T = e 3T g
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Options:
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Question Number : 16 Question Id : 9497305593 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Based on the arithmetic reasoning. find the number that is different from the other three.
Options:
1. ¢ 36
= % 54
= % 064
4 % 108
Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 16 Question Id : 9497305593 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

HFIOIET JF F FUN 9T, 38 AT F1 Jd H{ I 37 d7 F Hew T &l
Options:

1. v 36

> # b4

3 # 64

4 ® 108

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 17 Question Id : 9497305594 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

If in a certain code TAXIT is written as CABand SOEA is written as COUCH. then how
will OWN be written in that code?

Options:

1 % POSITION
= o POSSES

= % PROPERTY
4 % PRIMITIVE

Question Number : 17 Question 1d 19497305594 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

frdr 15 # afe TAX| &1 CAB Br@r =iar § 3T SOFA & COUCH forar
FAT g, a3 #i5 7 OWN &8 Br soem?

Options:

1 % POSITION
5. ' POSSES
=z ®# PROPERTY
4 #» PRIMITIVE

Question Number : 18 Question Id : 9497305595 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

If in a certain code. DETAIL is written as RETAIL and SWALLOW is written as
SHALLOW. then what 1s NIGHT written as in that code?



Options:
;. % DAY

+ DARK
- v KNIGHT
% SUNLIGHT

v

b

Question Number : 18 Question Id : 9497305595 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

&gt #iF &7 3fe DETAIL &r RETAIL Tor@r =mar & 3T SWALLOW =r
SHALLOW for@r =T &, a7 38 12 # NIGHT 3 &r Jar 82

Options:

1 #» DAY

> # DARK

= « KNIGHT

4 # SUNLIGHT

Question Number : 19 Question Id : 9497305596 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

If ANIMATION is coded as A2T4ATION and HOSPITAL is.coded as HZS4ITAL. how 13
CATAPULT coded in that language?

Options:
. % C3T4PULT

% C2TAPGLT
% C2TASULT
4 « C2T4PULT

2

Ll

Question Number : 19 Question Id : 9497305596 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

e ANIMATION a1 AZ2I4ATION & i H Torgr JET %’ 3T HOSPITAL
FT H2S4ITAL & 3 H for@r Far ?’, ar 35 FIE 9T H CATAPULT &I
ST Brar Sreen?

Options:

1 #» C3T4PULT
> # C2TAPGLT
= #® C2TASULT
g ¢ C2T4PULT

Question Number : 20 Question Id : 9497305597 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Madhav is facing South. He turns 45° in the anticlockwise direction and then another 45°

in the same direction and then 45° in the clockwise direction. Which direction is he facing
now?
Options:



1 « North
% Worth-East

BV

2 % North-West
4 % South-West

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 20 Question Id : 9497305597 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

ATeE gfator R #r 3 wEr §) a7 45° udr Fr Rl Rer # gAar 7
T 36 fGam F Y 45° gEar €, O 3% o # TG F 45° gHar g1 98
39 5w fem & @sr 22

Options:
1. ¢ 3l
z.ﬁ*m'qﬁ

- % 3ol - 9eEH
, « GI&or - gfeeH

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 21 Question Id : 9497305598 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Avinash cycles 10 metres towards West and tums right. cycles 9 metres and turns to right,
cvecles 8 metres and again turns to left. cycles 4 metres finally. Which direction is Avinash
facing now?
Options:

1. % East

% West

I'\_'I

z « North
4 % South

Question Number : 21 Question Id : 9497305598 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

afaaTer afPma v A 10 Hrex wsfee Torar g AR aifge J3at, 9 Ay
wsfre Tarar €, Y aifeet A, 8 Hiey "l e 7, Ak fw e
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]

1. % &

5 % ITeEH
3 ¢ Il

4 % GI&yOT




Question Number : 22 Question Id : 9497305599 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Choose the correct alternative to complete the pattern.

018273064, 51726354, 71625344,

Options:
1 % 5234165

5 61524334
5 % 5234166
4 % 61524336

Question Number : 22 Question Id : 9497305599 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

TE TeeT & g9 S 50 YT FT O
91827364, 81726354, 71625344,

Options:

1 #% 5234165
> « 61524334
= # 5234166
4 #» 61524336

Question Number : 23 Question Id : 9497305600 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In a class of 50 students, 33 like Calculus and 25 like Geometry. If all the students like at
least one of Calculus and Geometry. how many like both Calculus and Geometry?

Options:
1. ¢ 8

o W 33
33325

4w 18

Question Number : 23 Question Id : 9497305600 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

50 oTST # TH Fam H, 33 F HFogod THEG § A 25 F @EIE THE Bl
e T 4F T B FH W FA FoFd FUA WEOE THE &, ar e
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Options:



Question Number : 24 Question Id : 9497305601 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Some statements are given below along with two conclusions. Determine which
conclusion(s) logically follow from the given statements.

Statements:
A. Some hens are dogs.
B. All the dogs are goats.
Conclusions:
I. Some goats are hens
II. Some hens are goats

Options:
, % Only conclusion I follows.

» % Only conclusion II follows.

z # Neither conclusion I nor II follows.
4 w Both conclusion I and II follow.

Question Number : 24 Question Id : 9497305601 Question Type: MCQ Option Shuffling : Yes
Correct : 1 Wrong: 0.25

A Fo FuAl F @ ar ey oo §) fuife =
fow 70 Fuat F 3uR W FF T/ 71 Feew afes gk
a7 FFear gl

S

A. T HEAT Fed &

B. Wi Fed @&l &

=y

1. 5 FHE 7FEAr g

2. T AR sHREl &

Options:

| g fsey 1 wE 2

. » Fad fFHY 2 TWEr 2

5w 7 ar sy 1 3R F & sy 2 w2
, v o sy 1 3k 2w

Question Number : 25 Question Id : 9497305602 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Based on the given analogy. determine the missing number.

3:9:8:7
Options:



512
16
32
64

,_.
S

e WM
4 % =

Question Number : 25 Question Id : 9497305602 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

fer 917 WEeT & HTUW 9T, MUY TEAT T AT Fi

S 3 Buos Soni P
Options:

1. % 512

o % 16

3 ® 32

4 « 64

Question Number : 26 Question Id : 9497305603 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Observe the figure pattern given below and choose the correct answer option from the list
which will continue the pattern.

|| || n ]
HE E B | | ]
[ | [ | =5 |
Options:
[}
1. %
-
2 #®
i
3 ®
]
4

Question Number : 26 Question Id : 9497305603 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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e I S Se= T S e
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Options:
-
1. %
|
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=
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[ ]
4

Question Number : 27 Question Id : 9497305604 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Based on the arithmetic reasoning. find the number that is different from the other three
options.

Options:
1 ® 17

SR 15
T 11
4.« 23

Question Number : 27 Question Id : 9497305604 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

HFIOIET T & YN 9T, 38 AT F1 AT &L I 37 d SFear T

e &
Options:

o I I
2 % 15
= % 11
4 & 23



Question Number : 28 Question Id : 9497305605 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Based on the arithmetic reasoning. find the number that is different from the other three
options.

Options:
1 ¥ 1234

5 % 4576
s # 6897
4 % 5678
Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 28 Question Id : 9497305605 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

HFIOET T F YN 9T, 38 TEAT # 7 H{ I 37 di &Fear &

3eTeT B
Options:

1 v 1234
5. # 4576
= % 6897
4 % BB78

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 29 Question Id : 9497305606 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

If in a certain code MANIPAL is writtén as MBNIPAM and COLOUR is written as
CPLOUS. then how will ICEBERG be written in that code?

Options:
, % IEBERG

% ICEBER
# CEBERG
4 + IDEBERH

I'\-I

Ll

Question Number : 29 Question Id : 9497305606 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

fdr s & afe MANIPAL & MBNIPAM fer@r sar & 3it COLOUR &
CPLOUS for@r =iar 8, ar 39 1 # ICEBERG #¥ or@r swen?

Options:

1 # |[EBERG

> # |[CEBER

=z # CEBERG

4 « |DEBERH



Question Number : 30 Question Id : 9497305607 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

If in a certain code ANIL is written as BCOPJEMN and RAVT is written as STBCWXIK.
then how will RAMA be written in that code?

Options:

1 « STBCNOBC

> % STBSNBS
- % STSNOBS
4 % STBSNO

Question Number : 30 Question Id : 9497305607 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

f&dr #is # afe ANIL &F BCOPJKMN for@r =mar & 3T RAVI &#r
STBCWXJK Br@r =mar £, & 33 3T § RAMA 3 fr@r Fmwen?

Options:

1. v STBCNOBC
STBSNBS
STSNOBS
STBSNO

®

=

s

=

b

4.

Question Number : 31 Question Id : 9497305608 Question Type: MCQ. Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Mehvish starting from her house. goes 5 km in'the North, then she turns to her left and
goes 4 k. Finally. she turns to her left and goes 3 km. With respect to her starting point.
which direction is she in now?

Options:

; # North

> % North-East
= #% West

4 « North-West

Question Number : 31 Question Id : 9497305608 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

HIA TR F YE FA T HEamr 5 km 3caT o & I &, T 37 9
S 4 km T g1 39 A, IF T FSH 3 km Tadr gl 38 TRIHE
g & desT A, 77 a7 fFm T & &2

Options:

1. ®% Tl

o R Secil - qn.é-
5 % 9T9EH

4  3cak - 9TeEH



Question Number : 32 Question Id : 9497305609 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In the series below. one of the terms 18 micorract.
11111, 2356506, 39816561, 41625665536
Which is the wrong term?

Options:
1 v 11111

5 % 41625665536
% 39816561
4 % 235656

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

L

Question Number : 32 Question Id : 9497305609 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

T & TF H@eT H, U HEAT 7o g2
11111, 235656, 39816561, 41625665536

38 oS & SiAdr 87
Options:

1.+ 11111

> # 41625665536
= # 39816561

4 ®» 235656

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

b

Question Number : 33 Question Id : 9497305610 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Read the following statements.and choose the option that shows the correct relation
between sets A, B and C.

Set A: It consists of Artists.

Set B: It consists of Costumes.

Set C: It consists of Dance and Music.
Options:
1 % Set A is asubset of Set B.

- % Set B is a subset of Set C.
- % Set A and Set B are subsets of set C.

4 « Set A, Band C are not related.

Question Number : 33 Question Id : 9497305610 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 34 Question Id : 9497305611 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Read the statements and the conclusions and choose the cerrectoptions that follow.

Statements:
1. Some Mobiles are Desktops.
2. All desktops are radios.
3. All radios are televisions.

Conclusion:
E: All televisions are computers.
II. Some radios are phone.
Options:

L ® Only conclusion I follows.

» « Only conclusion II foliows.

- % Both conclusions I and II follow.

4 # Neither conclusion I nor II follow.

Question Number : 34 Question Id : 9497305611 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25



FUAT 3T 39+ AFY & 9¢ 3HIT ITF HET FH IS o Teear FT 99a
F

HU:
1. T AR ST gl
2. |afr sTwerT 3T §

3. meft (S e
fasa:

. msfr Shfaea Fogex £
. Fo T o1

Options:

% Faa =y | w2

5 v Shae fassy 1| Tér #

. » G fasey | AR I wEr gl

F ar Ty | AR 7 & Ty | wEr g

¥

4.

Question Number : 35 Question Id : 9497305612 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which of the following options shows the best relationship between Set A. B and C?

Set A : Apples
Set B : Pears
Set C : Fruit market.
Options:
1 # Set A is asubsetof'Set B.
- % Set B is a subsefof Set C.
5 « Set A and Set B are subsets of Set C.

4 = Sets A. B and C are not related.

Question Number : 35 Question Id : 9497305612 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25



T 7 ¥ iaar %7 @2 A, B 3t C & 9 + ey & g9g 3=l
CEUT -4

T A BT
#e B: Frerdmar

B C: %ol aT

Options:

lﬁmA,mBmwmﬁuﬁl

, » ¥ B, T C & TF ITWL=T F

S_Lf.ﬁzhaﬁTﬁEB,ﬁzc:#m%l
, % BT A, B 3T C 39w & g&foT 747 21

Question Number : 36 Question Id : 9497305613 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Showing a boy. Vikas said to Vishal. *His only brother's motheris my father's wife”.
Based on the given statement. how is Vikas related to thatbey?

Options:
1 « Brother

- % Uncle
- % Father

4, % Nephew

Question Number : 36 Question Id : 9497305613 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

v e R ge, Rem & e & w7, "SHF SFoilad A H AT HY
rar &7 9= 21 RU AT e F 3R W, T 36 o954 ¥ FF g 2
Options:

L v TS

2 & =TT

3 % TOdr

4 % HASAT

Question Number : 37 Question Id : 9497305614 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Based on the given analogy. determine the missing word.

Disease : Pathology :: Planets :

Options:



, % Astrology

5 % Classroom

5 o Astronomy

4 % Physics

Question Number : 37 Question Id : 9497305614 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

f&T 71T ®@e T & MU 9T, A Ag & AT Fi
e Ry Bee (e e :
Options:

;% SOaY

= % ohETll

5 GOl AT

4 & #Hifas BT

Question Number : 38 Question Id : 9497305615 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Count the number of triangles in the given figure.

Options:
1 & 11

o W 13

L

‘o 15
4_%]?

Question Number : 38 Question |d : 9497305615 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

foasw "I H ﬁ\'ﬁjqﬁ & TEIT AT FH

Options:

1 % 11
> % 13
= o' 15



a % 17

Question Number : 39 Question Id : 9497305616 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Observe the figure pattern given below and choose the option which will continue the
pattern.

= - # —y
Options:
1. %
11111
o W
3
4

Question Number : 39 Question 1d:.9497305616 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

mﬁmmﬁ?ﬂzﬁﬁrtmﬂaﬁﬁrmmﬁgﬁﬁﬂaﬁﬁ
ST TR

11T

Options:




i
i

Question Number : 40 Question Id : 9497305617 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In the series below, one of the terms is wrong.
100300005, 2000400000, 300040006, 400000600000008
Which term is wrong?

4.

Options:
1 % 300040006

5 % 400000600000008
5 % 2000400000
4 + 100300005

Question Number : 40 Question Id : 9497305617 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

A & % sEen A, U & T 2l
100300005, 2000400000, 300040006, 400000600000008

g€ ol UEAT HFEr 872

Options:

1. # 300040006

- # 400000600000008
=z # 2000400000

4 + 100300005

Question Number : 41 Question Id : 9497305618 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Read the following statements and choose the option that shows the correct relation
between sets A, B and C.

Set A: It consists of Indian aurochs.

Set B: It consists of Peacocks.

Set C: It consists of extinct anumals.
Options:



1 « Set A is a subset of Set C.
> % Set B is a subset of Set C.

% Set A and Set B are subsets of Set C.

14

4 % SeilsA. B and C are not related.

Question Number : 41 Question Id : 9497305618 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

ﬁnaﬁﬁmxmwﬁqéﬂhwﬂxﬁmmme@ﬁsﬁ@EﬁhBsﬁrca:ﬁaa:
Hel " 32NT)

AT A: TF RIS iEw ((Em d&9) ¥ ST 2

U< B: I8 AT ¥ ¥4 2|

BT C: 18 faerea =t & &1 £

Options:
., T A FE C F TF STEHT ¢
. HZ B, 42 C & T& ERREIERE gl
. HC A 3R 92 B, B¢ C & 3964=a7 &l

% T A, B 3K C 39w # m@afaT 7245 2

[

e

Question Number : 42 Question Id : 9497305619 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Given:

I. P+ Qmeans P is the sistepof Q.
II. P— Qmean P is the father of Q.
III. P * Q means P is the brother of Q.

Based on the above statenients. which option shows that 'A is the aunt of B'?

Options:
L ATC—B

> % A—C*B
#« C—C+B
4 % A*C-D

L

Question Number : 42 Question Id : 9497305619 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25



fear o &

. P+Q&F 3T & ™F P, QFraga 2l

i. P- Q& ¥T & F P, QF Mar 2

ji. P+ QF FT & F P, Q &1 A= 2

3T FUAT F HTUW 9T, Fiaar FFeT gg gar & & A, B &fr == &2

Options:

Question Number : 43 Question Id : 9497305620 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Based on the given analogy. determine the missing number.

13:144 2182
Options:
1 % 324

S ] 36
% 361
239

o
e

s
%
I~

Question Number : 43 Question Id : 9497305620 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

T 71T §eeT & MW 9X, 9 HEAT H AT Fi

18 14% 0 18 = 2
Options:

. % 324
o % 36

=z # 361
4 « 289

Question Number : 44 Question Id : 9497305621 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Based on the given analogy. determine the missing number.

62405372
Options:
1 #® 23

23325

3¢ 20



Question Number : 44 Question Id : 9497305621 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

feT a7 ey & N 9T, IS HEAT & AT Hi
6:24 25 =7

Options:

1. % 23
o # 25
3. v 20
g4 % 22

Question Number : 45 Question Id : 9497305622 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Find the odd one out.
Options:
1 % Wind

» % Atmosphere

= # Alr

4 « Cool

Question Number : 45 Question Id : 9497305622 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

HEIT A

Options:

1 % g4l

oW CiGIEELUS
CIE?)

3. 2
4.&"2-3_51-

Question Number : 46 Question Id : 9497305623 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

If in a certain code. EIGHT is coded as 12345678 and ELEVEN 1s coded as
1234567891011. what will be the code for TEN?

Options:
. % 12345789

5 « 12345678910
« 12345678913
4 % 1234567890

Ll

Question Number : 46 Question Id : 9497305623 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25



Ife &8 FE H EIGHT #r 12345678 & &= H for@Tr =ar g 3
ELEVEN & 1234567891011 & 1T ¥ r@r =mar &, & TEN & &1 F7

2

Options:

1. % 12345789

> « 12345678910
= # 12345678913
4 # 1234567890

Question Number : 47 Question Id : 9497305624 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which letters in the English alphabet look the same even after half a turn (180%)?
Options:

o # M.LS

; # DL

o # FLS

Question Number : 47 Question Id : 9497305624 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

AT FUTATT H FIAH HeW Hegearan (1809) THS 9T Ta TAA &

femg &2
Options:

1 S: I.- N
o= M, 1, S
;aD |,S
g # F, I_.. S

Question Number : 48 Question Id : 9497305625 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

If in a certain code. CINEMA is coded as 654321. CHAIR is coded as 54321, and MOON
18 coded as 4321, what will be the code for CYCLONE?

Options:
1 % 7563421

% 7456321
o 7054321

4 % 7342512

2

[k}

Question Number : 48 Question Id : 9497305625 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25



Ife &g i § CINEMA T 654321 & g & f&@r amar &, CHAIR &
54321 & T 7 3@ J7ar £, 3T MOON Fr 4321 & F8 & orgr Far
& ar CYCLONE & &I &7 grem?

Options:

1 % 7563421
> % 7456321
z « 7654321
4 % 7342512

Question Number : 49 Question Id : 9497305626 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Ananva is facing East. She turns 45° in the clockwise direction and then another 45° in the
same direction and then 45° in the clockwise direction. Which direction is she facifig
now?
Options:

; # North

> % North-East
2 # North-West
4 w South-West

Question Number : 49 Question Id : 9497305626 Question Type: MCQ' Option Shuffling: Yes
Correct : 1 Wrong: 0.25

T I o #r WY HE FF @S El GF 45° wEr # fouw 7 gAdr 7
3T 39 e # v 45° gAan E, 6T a7 a3 & fger 7 45° g 81 7
H o fem #r 3% g7 = T

Options:

1. ® 3l

2 ® 3 -

3 % Jea} - 9TeEH
E E%UT = tlﬁ?m'

Question Number : 50 Question Id : 9497305627 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Based on the arithmetic reasoning. find the number that is different from the other three
options.

Options:
1« 7691

5 % 8971
s % 7981
4 % 8791



Question Number : 50 Question Id : 9497305627 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

HFIOIET 9o & 3UR T, 3§ &0 # 7d F¢ 57 307 31T & 3009 &
Options:

1.« 7691
> # 8971
z % 7981
a4 ® 8791

General Awarerness

Section Id : 949730139

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 50

Number of Questions to be attempted: 50

Section Marks: 50
Sub-Section Number: 1
Sub-Section Id: 949730147
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9497305628 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Who is considered as the master of Greek comedy?
Options:
, « Aristophanes

» % Aeschylus

= % Sophocles

4 % Philip

Question Number : 51 Question Id : 9497305628 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

AT FHIT F IO F T A FH AT S 22
Options:

| « TRETRaE

> % TEHOH

= Qﬂ-q'ﬂm

4 ® IEACE

Question Number : 52 Question Id : 9497305629 Question Type: MCQ Option Shuffling: Yes



Correct : 1 Wrong: 0.25

Which among the following is in Uttarakhand?
Options:

, w Bandipur National Park

- % Balpakram Sanctuary

- % Chandraprabha Sanctuary

4 + Corbett National Park

Question Number : 52 Question Id : 9497305629 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

g § @ &9 @1 scauEs #7 82
Options:

5 % Fo9shH JHARTY

5 % TEHHT AU
, » PIEC TS a1

Question Number : 53 Question Id : 9497305630 Question Type: MCQ: OptionShuffling: Yes
Correct : 1 Wrong: 0.25

Which Constitutional Amendment Act provided reservation in admissions in private
unaided educational institutions for students belonging to scheduled castes/tribes and other
backward classes?
Options:

| ® 9204 Constitutional Amendment Act! 2003
5 o 93™ Constitutional Amendiment Act. 2005
2 % 04 Constitutional Amendment Act. 2006

4 B gsth Constitutional Amendment Act. 2009

Question Number : 53 Question Id : 9497305630 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Wﬁ%ﬂmmmmﬁﬂ?ﬁﬁﬁd@fdﬂm% AT 3= o
AT F OIET & TS A wEmar gg O gEwnat # i@y # Her
e foar?

Options:

% 9277 Bivus wWetuw wfafETE, 2003
. 937 Wi TeueT HTaETA, 2005
-« 9431 HiguE ey sfaf@Ta, 2006
. % 9531 Wieens weltu= Hfaf=Ta, 2009




Question Number : 54 Question Id : 9497305631 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

For the first time Indian Legislature was made "Bi-cameral” under:
Options:

. = Government of India Act. 1861

5 % Government of India Act. 1892

5 ® Government of India Act. 1915

4« Government of India Act. 1919

Question Number : 54 Question Id : 9497305631 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

qTT feTadAse Fr gger 9N FES AT "gfauea” ST T O
Options:

| % ARG W HfOTHTH, 1861

. % ¥R TR Fafaas, 1892

- % HRT TR HefaTs, 1915

4 v AT TR Fafaas, 1919

Question Number : 55 Question Id : 9497305632 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Who among the following was India’s constitutional advisor?

Options:
1 % B L Mitter

- % KM Munshi
z « B N Rau

4 R A K Iver

Question Number : 55 Question Id : 9497305632 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

oeg # ¥ &l 97g & Ul Taga o?
Options:

. w O T AR
Eﬁﬁmgaﬁ

3_¢€rmm

L x T I

Question Number : 56 Question Id : 9497305633 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25



Deficit financing leads to inflation in general. but it can be checked if:
Options:

government expenditure leads to increase in the aggregate supply in ratio of aggregate
1+ demand

government expenditure leads to decrease in the aggregate supply in ratio of aggregate
demand

ra
®

government income leads to decrease in the aggregate supply in ratio of aggregate demand
only aggregate demand is decreased

Question Number : 56 Question Id : 9497305633 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

wTeT e ST Al 9 JErEhE (FEI) # A A §, Ao 39
UHFT T Wb &, Tfe:

Options:

l_ﬁfwﬁrmqﬁﬂ;m HTdi%HulmdﬁTm smafa &7 3 2 2
TN ST W E AT F HAd H ol A HFEEr gl
TN AT @ FA AN F HIT F F AL H FA A E
. S F AT H FA H A g

3

Question Number : 57 Question Id : 9497305634 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Gross domestic capital formation isdefined as:
Options:
, % flow of expenditure devotedto increased or maintaining of the capital stock

- % expenditure incurred omrpliysical assets only

5 % production exceeding demand

4 « netaddition tostock after depreciation

Question Number : 57 Question Id : 9497305634 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Tl We Io AT # FE qReia R s 87
Options:

lﬁﬁcpﬁvﬁrﬁhﬁmﬁmmwﬁﬁﬁvwﬁﬂmm
.y P S TOleAAr I g S

5 % HIET T A& 3T
4_gﬂr‘m$mm‘i’mﬁﬂﬁq&



Question Number : 58 Question Id : 9497305635 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

On July 12. 1982, the ARDC was merged mnfo:

Options:
1 # RBI

s « NABARD
z % EXIM Bank
4 % ICICI

Question Number : 58 Question Id : 9497305635 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

12 Somg, 1982 &I, THREHr (ARDC) & farwsr faerr foamar aram am?
Options:

. » 9T R=E #% (RBI)
. » @maE (NABARD)

- » UFsH (EXIM) S

4 » IEHHTEAS (ICICI)

Question Number : 59 Question Id : 9497305636 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Intensity of electric current is expressed in:

Options:
1. % watts

o o amperes
- % Jjoules

4 % volts

Question Number : 59 Question Id : 9497305636 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

foege varg 1 dwar us saea & S 82
Options:
1.%?3373'
g_ﬁfﬂm
el

3.

4 % dled

Question Number : 60 Question Id : 9497305637 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

At neutral pH. a mixture of amino acids in selution would be predominantly:

Options:



, % Non polar molecules

> % Positive and monovalent

5 « Dipolar ions

4, % Hydrophobic

Question Number : 60 Question Id : 9497305637 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

3eTHIA pH TR, 3T TS & U THS0T ET ®9 | #T g

Options:

| w IR gET

5 % UATCHS 3T TF - HAT=TF
39 : 3

4.53331-%&

Question Number : 61 Question Id : 9497305638 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Malt sugar is prepared from sprouting of:
Options:

. w Sugar beet

~ « Barley

% Maize

3.
4 # Tomato

Question Number : 61 Question Id : 9497305638 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Al et BFaSF HHT § aar H S 82
Options:

] & =

=

o o St
. % T
4 % THI

Question Number : 62 Question Id : 9497305639 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Ustad Mansur was a famous painter in the reign of:
Options:

, % Shajahan

- % Akbar

5 % Humayun



4 « Jahangir

Question Number : 62 Question Id : 9497305639 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

3FAE AEY FEE oaTEAST H U WiEE FEer o7
Options:

| % SMESTEl

> % HPET

3&-% ™

Question Number : 63 Question Id : 9497305640 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

What does HTML stand for?
Options:
. % Hybrid Text Markup Language

5 o Hyper Text Markup Language

- % Higher Text Markup Language

4 % Hyper Time Markup Language

Question Number : 63 Question Id : 9497305640 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

HTML =T &7 379 872
Options:

5 o BAY THFEE AHAT oAdas
- % BT SFEC HATHAT olddl
4 » T TEH HRSTT daat

Question Number : 64 Question Id : 9497305641 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Weight of a body is a:
Options:
. % Negative quantity

-~ % Scalar quantity

- % Relative quantity

4  Vector quantity

Question Number : 64 Question Id : 9497305641 Question Type: MCQ Option Shuffling: Yes



Correct : 1 Wrong: 0.25

fordr Rz F1 9w v F21r B2
Options:

1 % HUMcHh HTAT
5 #% HSer [T

3 & ST AT
4 | AT

Question Number : 65 Question Id : 9497305642 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

are a potential source of energy.

Options:
1 % Proteins
o % Vitamins

-  Carbohydrates

4 % Lipids

Question Number : 65 Question Id : 9497305642 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

F=T &7 U Tefad o 2l

Options:

Question Number : 66 Question ld.: 9497305643 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Above the surface of the earth if we go to a distance equal to double the radius of the earth.
the value of *g” will become:

Options:
1 % One-third

- « One-fourth
5 % One-half

4 % One-ninth

Question Number : 66 Question Id : 9497305643 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

g &7 WO W FW, IS FH 2 Fr T @ ene g WA, a1 g
A= fhaar geEm?

Options:



1. % Wb - BEE
2 o T - =items

5 % 3T
4 % Tk - AT

Question Number : 67 Question Id : 9497305644 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which was the 1st non Test playing country to beat India in an international cricket match?
Options:

1 % Canada

= « SriLanka

- % Zimbabwe

4 % East Africa

Question Number : 67 Question Id : 9497305644 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

e 3aETaT e #9 § 9T & &0 J16T 98oT 3 ¢ Tele Jrer
29T Si=THT oaT?

Options:
1. % ohedlsS]

g_wm
Sﬁm
4_£qﬁmﬁa:r

Question Number : 68 Question Id : 9497305645 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which NBA player scored 8 points in the final 7 seconds of a game to lead his team to
victory?

Options:

1 % Baron Davis

> % Kevin Garnett

- % Stephon Marbury

4 Reggie Miller

Question Number : 68 Question Id : 9497305645 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

form TaeiT (NBA) T@omsr & v @ & 3aH 7 @Fs & 8 3% 9T
F¥oer &7 F ST feee o7

Options:

I%ﬁﬁgﬁ_\q



LN e L
% chided 4ldc
5 % TSP ATEL
4 & e

P

Question Number : 69 Question Id : 9497305646 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

How much tune is allotted to professional Golf Tour players per shot?
Options:
1« 45 seconds

- % 25 seconds
% % 1 minute
4 % 2 minutes

Question Number : 69 Question Id : 9497305646 Question Type: MCQ Option Shuffling ' Yes
Correct: 1 Wrong: 0.25

goiET e X @enfEar #1 9y offe e e smafeq frar smar 22
Options:

| « 45 TS

= % 1 A=

4_#32%3_6

Question Number : 70 Question Id : 9497305647 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which 1s the oldest text in the world?
Options:
, % YajurVeda

- % Atharva Veda
5  Rig Veda

4 % Sama Veda

Question Number : 70 Question Id : 9497305647 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

g &1 HaH A IS HiAHr g7

Options:

1.%3“3%[3
s v FI9G

4 % TH A

2



Question Number : 71 Question Id : 9497305648 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which two Indus sites were found in Afghanistan?
Options:
1 % Lothal and Daimabad

- % Shortughai and Daimnabad

-  Shortughai and Mundigaq

4 R Mundigaq and Daimabad

Question Number : 71 Question Id : 9497305648 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

HIAT T THY T F FAH FEAAEAS H G T A?

Options:

| » e 3R gEEEE
, « WGES 3R FEAERE
o WgES AR e

Question Number : 72 Question Id : 9497305649 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

For which sector of India, did Moody's Investors Service upgrade its outlook from 'stable’
from 'negative'?

Options:

1 % Real estate

- « Banking

- % Solar energy

4 w Auto industey

Question Number : 72 Question Id : 9497305649 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

7S foders a1 F 9na & @ a9 & e, e gfewr 7 gur &, 39
‘TPRIcH® O T8 & samar ar?

Options:

 » TUEY @uer (e veee)
2_?%’[

= R 'HTT ﬁfr

, w HTET 3T




Question Number : 73 Question Id : 9497305650 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which player got highest bid of Rs 39.70 lakh at Pro Wrestling auction 20157
Options:

1 % Sushil Kumar

~» % Geeta Phogat

=  Yogeshwar Dutt

4 % Vijendra Singh

Question Number : 73 Question Id : 9497305650 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

for e &1 2015 T IRITT Foekt (91 WEeT) Fr Ao
# 39.70 oM@ 9 T 3==aH areir Aar 2

Options:
» T TR

& Iar BETE
Bfmﬂﬁ

1

[

Question Number : 74 Question Id : 9497305651 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

President Yameen Abdul Gayoom declared national emergency in all the areas of
on 4th November 2015,

Options:
1 % Seria
o « Maldives

5 % Japan

4 % Nepal

Question Number : 74 Question Id : 9497305651 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Treeafy ATHT Hegol TGH 4 F997, 2015 &1 & Tl & 7 iy
HTITAeTer OI9oT &I off|

Options:

1_531"-ﬁﬁ7ﬂ

g_gﬁ'lﬂ'cﬁ?

z #% AT

4 % OIS




Question Number : 75 Question Id : 9497305652 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

How many districts will Mission Indradhanush Phase-2 cover?
Options:

. % 200

5 % 201

5 o 352

4 % 400

Question Number : 75 Question Id : 9497305652 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

fRrere SgeEy T - 2 F e foRaw forer gl

Options:

1. % 200
> % 201
z « 352
4, % 400

Question Number : 76 Question Id : 9497305653 Question Type: MCQ. Option. Shuffling: Yes
Correct : 1 Wrong: 0.25

For which among the following offenses. did Matiu recommend higher punishiment to
Brahamans than the persons of other varnas?

Options:

, w Profanity
- % Murder

5 « Theft

4 # Treason

Question Number : 76 Question Id: 9497305653 Question Type: MCQ Option Shuffling : Yes
Correct : 1 Wrong: 0.25

fafof@a #& 7 fw s & e, 7 & 37 3ol & safFaar &
e H SEAT & o 3= gue Fr gong &r e

Tpt:nsaﬂﬁ?aa:r

> % godl

3 « TN

4 % TR

Question Number : 77 Question Id : 9497305654 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25



One of the writers of the Dharmashashtra disapproved the practice of Satfi declaring it as

an act of suicide. Identify him.
Options:

, s JAngiras
# Usana

w2

= % Vishnu

4 « Medhatithi

Question Number : 77 Question Id : 9497305654 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

OH AMET & AWH H W TH F Fel AT FEFA off 3R
I HCHEAT & U Fcd & §F H §41IT A7| 38 Tgamd |

Options:

, w HPTE

o> % JHAT
fersor

3= 2
4_#“@'&7

Question Number : 78 Question Id : 9497305655 Question Type: MCQ. Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The Boghazkoi inscription was discovered'in
Options:

.« Turkey

- % India
5 % Syria
4 % Iran

Question Number : 78 Question Id : 9497305655 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0:25

FETeRs HremeE T @t AT o

Options:

Lol

1.9 9
> #% HNG
g_ﬁm

4wé_‘rm

Question Number : 79 Question Id : 9497305656 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The Ali brothers. launched Khilafat Movement against British in 1920. The names of Ali
brothers are:




Options:
1 # Mavhanumad Ali and Khilafat Ali

- % Mauhammad Al and Muskan Ali
= # Mavhammad Ali and Nusrat Ali
4 + Mauhanunad Ali and Saukat Ali

Question Number : 79 Question Id : 9497305656 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

1920 F 37eiT o97$AT F IS F ovg Womha HEe % fmar om) 3=
3ol A=At & ATH &
Options:
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Question Number : 80 Question Id : 9497305657 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

Which is the largest port of India?
Options:

, % Paradip port

5  Kandla port

- % Jawahar lal Nehiu port

4 % Ennore port

Question Number : 80 Question Id 19497305657 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

E & a8 TEnaeeNg HIadar 87

Options:

| % URIET SR
> SISl GGG
- % HGEL T Ag® FCIeE

4 % TeaAll FETeTE

Question Number : 81 Question Id : 9497305658 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The Radcliffe line is a boundary between:
Options:
1 + India and Pakistan



» % India and Afghanistan

z % India and China

4 R India and Myanmar

Question Number : 81 Question Id : 9497305658 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

=Eaw wea & o & 9= Fr d@a T R

Options:

1JW3ﬂTm

5 % AT 3T JFMTAET
5 % AT 3T =T

4 ® T HRT =AY

Question Number : 82 Question Id : 9497305659 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In which Constitutional Amendment Act was an authoritative text of the Constitution in
Hindi provided to the people of India by the President?

Options:
| % 57 Constitutional Amendment Act. 1987

5 o 58™ Constitutional Amendment Act. 1987

5 % 50t Constitutional Amendment Act. 1988

4 % 61° Constitutional Amendment A¢t. 1988

Question Number : 82 Question Id : 9497305659 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

e gaufas Teivm AfefFas g osedfa & &er # gy & U
HfFRE I8 SR & S H ger fhar?

Options:

. % 57 1 @feura weiua wfafEas, 1987
. w 58 a1 @ Tty wfafEgs, 1987
- = 59 T Fiews Futya Hfaf=gs, 1988
4 % 61 a1 gfgurs ety wfafaaa, 1988

Question Number : 83 Question Id : 9497305660 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

A separate Governor for Bengal was appointed under:

Options:
1 « Pitts India Act of 1784

- % Charter Act of 1793



= % Charter Act of 1733
4 % Charter Actof 1753

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 83 Question Id : 9497305660 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

T & ToIT T 37797 190 mmﬁ-’lﬂ'ﬁrmww

Options:

. v 1784 F Trew == sRETs
1793 & =mer Faf=TH

2.
= % 1733 & =mer FOTTH
4 % 1753 & =mer FOTTH

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 84 Question Id : 9497305661 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

Under which act were the Christian Missionaries allowed to spread their religion in India?

Options:
1 % Pitts India Actof 1784

5 « Charter Actof 1813
= % Charter Act of 1833
4 % Charter Act of 1853

Question Number : 84 Question Id : 9497305661 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

fr AORTR & 3T 9 FeEREr & 909 § JA99 97 F7 T891 &
Fr Aty & 718 A

Options:

% 1784 ¥ Ty gew yfufaas

5 « 1813 & =reT Ha=aH
= % 1833 & =mer FOTTH
4 % 1853 & =mer FOTTH

Question Number : 85 Question Id : 9497305662 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which of the following is the most appropriate cause of exports surplus?
Options:
, % Country's exports promotion value

> w Country's stringent import policy

- « Developments in national and international markets



, % Country's imports promotion value

Question Number : 85 Question Id : 9497305662 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

st & & g ar faga #few &1 Fe8 s9gFa HROT 87
Options:

| » S & AT gada 7o

5 % S F TWEd FIT =
. » T8I HR HRTSET T 7 B
, % SN F AT FIOS Ho L

Question Number : 86 Question Id : 9497305663 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which of the following items would not appear in a company's balance'sheet?
Options:
1 % Value of stocks of raw materials held

» w Total issued capital

- « Revenue from sales of the company's products
4 % Cash held at the bank

Question Number : 86 Question Id : 9497305663 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

frrafof@a #al # & FITA TR HIAL & g - 99 (Fo7 ofie) 7 femrs
Far a7

Options:
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Question Number : 87 Question Id : 9497305664 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Our financial system has provided for the transfer of resources from the centre to the
states. The important means of resource transfer are:
Options:

,  Taxsharing

- w Capital invested

- % Salaries



4 % Income

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 87 Question Id : 9497305664 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

ZATY el qumelr & dg ¥ USAr FF FEET F §EaIaI0T S egaET
SeI T TS gl TS EEAICRUT & Hgeaqul JY 2

Options:

1_?%'%
, % (AR T
E_QEQHH
4 #% AT

Note: For the above question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates

Question Number : 88 Question Id : 9497305665 Question Type: MCQ Option Shuffling :'Yes
Correct : 1 Wrong: 0.25

What does the debasement of the coins and gradual disappearanc@of gold coins during the
post-Gupta period indicate?

Options:

, % Commodities became cheap

» % Gold mining was stalled

= % Money economy was gradually replaced by Barter econonty

4 + There was a decline in trade

Question Number : 88 Question Id : 9497305665 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

T G & Tead fEERL T W Fr FEraAt Fr iy 3R FEe e
2T T g2 87

Options:
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Question Number : 89 Question Id : 9497305666 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In which of the following countries is the Bhamala Stupa. a ruined Buddhist Stupa,
located?

Options:

R Nepal



- % Bhutan
5 « Pakistan

4 % China

Question Number : 89 Question Id : 9497305666 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

fT=fof@a gt & & foFms aFen &9, v 3 alg &0, e 22
Options:

i ® F9re

o Y

5 GTTehEdTeT

4 # =T

Question Number : 90 Question Id : 9497305667 Question Type: MCQ Option Shuffling 1 Yes
Correct : 1 Wrong: 0.25

The weekly Commonweal magazine was founded by:
Options:

, % Sarojini Naidu

> « Michael Williams

- w Bal Gangadhar Tilak

4 % Annie Besant

Question Number : 90 Question Id : 9497305667 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

HIedTige qf3 FIAAE g @ % &1 715 o7

Options:

Question Number : 91 Question Id : 9497305668 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which 1s the 1sland state of Australia?
Options:
1 % Victoria

5 w Queensland

5 « Tasmania

4 ® New South Wales



Question Number : 91 Question Id : 9497305668 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

FTESTOraT &1 9T U= FiFar 27
Options:

. » e

gﬁm

g_ﬁfﬁmﬁ'ﬂT

, & 9 WY IoH

Question Number : 92 Question Id : 9497305669 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

For which county did Ravi Shastri play cricket?
Options:

. Glamorgan

- % Leicestershire
= #% Gloucestershire

4 % Lancashire

Question Number : 92 Question Id : 9497305669 Question Type: MCQ. Option Shuffling: Yes
Correct: 1 Wrong: 0.25

I et 7 &g +13dr & o G @ar?

Options:

|« THAR
5w STEETTIN
5 ® TATEST2MAT
4 % DA

Question Number : 93 Question Id : 9497305670 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Track and field star Carl Lewis won how many gold medals at the 1984 Olynipic games?
Options:
1. % Two

- % Three
-« Four
» Eight

T

i

Question Number : 93 Question Id : 9497305670 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
1% ar
o % el
3. ¢ W
4 % Ao

Question Number : 94 Question Id : 9497305671 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Former Australian captain Mark Taylor has had several nicknames over his playving career.

Which of the following was NOT one of them?
Options:
Tubby

1w

» % Stodge

= % Helium Bat

4 Stumpy

Question Number : 94 Question Id : 9497305671 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

HEETOIA IF Fodla ATk ¢l &l T Wel I H Fg
IATHET G AT AT = A ¥ FlF A ¥ A9
STT?

Options:

1 % &
o % TS
4.« 1—7:"47

Question Number : 95 Question Id : 9497305672 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The Upanishads are:

Options:
1 % books of ancient Hindu laws

~  a source of Hindu philosophy
= % books on social behaviour of man
4 % prayers to God

Question Number : 95 Question Id : 9497305672 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25



3TANE T 27
Options:
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Question Number : 96 Question Id : 9497305673 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which of the following cities is known as the city of canals?
Options:
1 % Amsterdam

% Rome

I"'\_'I

2« Venice

s Athens

i

Question Number : 96 Question Id : 9497305673 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

A ToT@g § ¥ S99 28T J83 & 98T & T H J7 A 22
Options:

1 & t‘méﬂ

> # UH

5 o S d

4 R ﬂ-ﬁ_\q’

Question Number : 97 Question ld.: 9497305674 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which is the first National paik of India?
Options:
% Kanha National Park

=

» Dudhwa National Park

P

% Rajaji National Park

A

 Corbett National Park

Ny

Question Number : 97 Question Id : 9497305674 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

T FT I TS 3T FIA T 82

Options:

| » el TS 314
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Question Number : 98 Question Id : 9497305675 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The equator does not pass through which of the following countries?
Options:

L ® Kenya

- « Mexico

= % Indonesia

4 % Brazil

Question Number : 98 Question Id : 9497305675 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

frafof@a & & a7 2o & sFed @ e F81 IRal?
Options:

| % chedl

g_t:f?:\lﬁ?ﬂﬁ

Baﬁm

4.5;3313?@'

Question Number : 99 Question Id : 9497305676 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Whose book served as a foundational work on Hindu law in the ancient Indian society?
Options:

, % Kapil

- % Banbatta

- % Kautilya

4 « Manu

Question Number : 99 Question Id : 9497305676 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Sl SRAT TAS # Bg Al T R TFds o Ueh AR Hd
faram?

Options:

| % T




4. 9 'S

Question Number : 100 Question Id : 9497305677 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

With which country did India sign 18 MoUs in Oct 20157
Options:
1. % USA

5 % Japan

5 o Germany

4 % UAE

Question Number : 100 Question Id : 9497305677 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

ARd o Hagat 2015 & fow gor & @Y 18 FASAIAT A« I §EalaN
e

Options:
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2. ® SATHlA

3 FHAT

4.

General Engineering (Civil)

Section Id : 949730140
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questions to be attempted: 100
Section Marks: 100
Sub-Section Number: 1
Sub-Section Id: 949730148
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9497305678 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which of the following sedimentary rocks change into quartzite by metamorphic action?

Options:
1 « Sand stone

- % Lime stone

- % Shale



4 % Gypsumn

Question Number : 101 Question Id : 9497305678 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 102 Question Id : 9497305679 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The stone suitable for rubble masonry should be:
Options:
1 Hard

» % Tough

5 » Heavy

4 % Light

Question Number : 102 Question Id : 9497305679 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:

l_v?m

Question Number : 103 Question Id : 9497305680 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which of the following cement is suitable for use in massive concrete structures such as
large dams?

Options:
, % Ordinary Portland cement

oo Low heat cement

- % Rapid hardening cement

4 % Sulphate resisting cement



Question Number : 103 Question Id : 9497305680 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 104 Question Id : 9497305681 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

In order to dry the quarry sap of a freshly quarried stone. it should be expoesed to open air
for a period of:

Options:

1 % One month

- % Four months
5 « SiX to twelve months

4 % Two years

Question Number : 104 Question Id : 9497305681 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 105 Question Id : 9497305682 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

For railway ballast, the stone should be:
Options:
1 % Soft with a uniform texture

» % Hard. heavy. strong and durable

- % Hard fough, resistant to abrasion and durable



4 « Hard. dense. durable. tough and easily workable

Question Number : 105 Question Id : 9497305682 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 106 Question Id : 9497305683 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The dressing of stone is done:
Options:
. Immediately after quarrying

» w After seasoning

5 w After three months of quarrying

4 % Just betfore building

Question Number : 106 Question Id : 9497305683 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Question Number : 107 Question 1d : 9497305684 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The attrition test on stones is performed:
Options:
, % Todetermine the crushing strength of the stone

- % For assessing the resistance of stone to the sun. rain. wind etc.

- % To ascertain the stability of the stone when exposed to acid fumes

4 For determining the rate of wear of stone due to grinding action under traffic



Question Number : 107 Question Id : 9497305684 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 108 Question Id : 9497305685 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The rapid hardening Portland cement is obtained by:
Options:

, « Grinding the clinker to a high degree of fineness

» % Adding calcium sulphate to the mixture

- % Adding gypsum after grinding

, % Bumning the mixture at a lower temperature

Question Number : 108 Question Id : 9497305685 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 109 Question Id : 9497305686 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The rate of hydration and hydrolysis of cement depends on its:
Options:

1 # Soundness

- « Fineness

5 % Sefting test

, % Tensile strength

Question Number : 109 Question Id : 9497305686 Question Type: MCQ Option Shuffling: Yes



Correct : 1 Wrong: 0.25
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Question Number : 110 Question Id : 9497305687 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Spirit varnish consists of:
Options:

, % Spirit and wax

o« Spirit and shellac

- % Turpentine. spirit and wax

4, % Turpentine. spirit and shellac

Question Number : 110 Question Id : 9497305687 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 111 Question Id : 9497305688 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The defect caused by imperfect seasoning. is called:
Options:
1. #% Wetrot

5 % Dry rot

-  Honeycombing

4, w cup shake

Question Number : 111 Question Id : 9497305688 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 112 Question Id : 9497305689 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which of the following paints is highly resistant to fire?
Options:

, w» Cement paint

o  Asbestos paint

- % Aluminium paint

4 % Enamel paint

Question Number : 112 Question Id : 9497305689 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 113. Question Id : 9497305690 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The expansion in Portland cement can be tested by:
Options:

1 % Fineness test

5« Soundness test

5 % Sefting time test

4, % Normal consistency test

Question Number : 113 Question Id : 9497305690 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 114 Question Id : 9497305691 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which one of the following takes polishes very well?
Options:

, % Basaltand trap

- « Granite

- % Sandstone

4 % Quartzite

Question Number : 114 Question Id : 9497305691 Question Type: MCQ Option'Shuffling: Yes
Correct: 1 Wrong: 0.25
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Question Number : 115 Question Id: 9497305692 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The process of taking out stones of various size from natural rock is
known as:
Options:

, w Dressing

» % Seasoning

- % Polishing

4w Quarrying

Question Number : 115 Question Id : 9497305692 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 116 Question Id : 9497305693 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Limestone used for manufacturing of cement is:
Options:
1 + Kankar

> w Magnesium limestone

- % Compact limestone

4 % Granular limestone

Question Number : 116 Question Id : 9497305693 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 117 Question Id: 9497305694 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The oldest part of exogenous tree is:
Options:

1 Pith

- % Heartwood

= % Sapwood

4 % Cambium layer

Question Number : 117 Question Id : 9497305694 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 118 Question Id : 9497305695 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Most economical method of sawing wood is:
Options:
.  Ordinary sawing

- % Quarter sawing

- % [langential sawing

, = Radial sawing

Question Number : 118 Question Id : 9497305695 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25
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- » TIIEr FaT
4w ST e

Question Number : 119 Question 1d : 9497305696 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The constituent which imparts colour to cement is:
Options:
1 ®% Lime

> % Silica
=z % Alumina

4 + Iron oxide

Question Number : 119 Question 1d : 9497305696 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Options:

g_aﬁaﬁa’ﬂ-



TegTHAT

5. £

. TG HIFHTSE

Question Number : 120 Question Id : 9497305697 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The compound responsible for initial setting of cement is:
Options:
1 « Tricalcium aluminate

- % Tricalcium silicate
= #% Dicalcium silicate

4 % Tetra alumino ferrite

Question Number : 120 Question Id : 9497305697 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

AT &7 IREE T F AT SR Ot §

Options:

, TSHTONTH TogfFAT
« TeenionaR fAfereRe
. » SRehrovaH FafeRRe
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Question Number : 121 Question Id : 9497305698 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

Which one of the following is‘het a pozzolanic material?

Options:
, % Flyash

> % Rice husk asly
5 o Gypsumn

4 R Blast furnace slag

Question Number : 121 Question Id : 9497305698 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

T § ¥ #iF 1 = oSe#Ae awE JE 87

Options:

| OIS VT
=S Al STHT T
A
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Question Number : 122 Question Id : 9497305699 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The presence of dampness while applying the primer affects the life of:
Options:
, « Oil paint

- % Enamel paint

- % Aluminium paint

4, % Plastic paint

Question Number : 122 Question Id : 9497305699 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

YIEAY oA & THIT FA7 1 Uity Fea 7 ¥ s dea a5
genfae edr 27

Options:
| v AT 9T

o ® ﬁﬂmﬂ'ﬁi
. 5 eI T

4 % TOITECH 9T

Question Number : 123 Question Id : 9497305700 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which of the following paint is shines and visible even in darkness?
Options:
, % Synthetic rubber paint

- u Cellulose paint

5 o Aluminium paint

, w Emulsion paint

Question Number : 123 Question 1d : 9497305700 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

eI s TR T Ie Tmea g AR T F f T@E gar &7
Options:
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Question Number : 124 Question Id : 9497305701 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Painting work is generally specified by:
Options:
, % Weight of the paint used

- % volume of the paint used

- % Labour used for painting

4 « Areaof the painted surface

Question Number : 124 Question Id : 9497305701 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Ufeer F1F gAEad:; Fg 3R o Afese & smar 22

Options:

% 9T & HR F HUR T

- » YT F HEEST F HYR T
5 » YT H T HF & AR W
4 v YTEST & 8% F HYR T

Question Number : 125 Question Id : 9497305702 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The small area on painted surface englosed by hair line cracks are known as:
Options:
, % Blistering

» % Crazing

=  Wwrinkling

4, % Chalking

Question Number : 125 Question Id : 9497305702 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

YT FT TR WAE W W TEA e ¥ B Oic o 87 @5 99 ¥ 74

g

Options:

. TeerEeiyer (Blistering)
« e (Crazing)
&= (Wrinkling)

1.

BV

=l



, % =TT (Chalking)

Question Number : 126 Question 1d : 9497305703 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Varnish is generally made of:
Options:

. % Spirt

- % solvent

5 ® resin

4 + both solvent and resin

Question Number : 126 Question Id : 9497305703 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

IIfeTer WYRUEAT @5 ¥ 847 g &
Options:
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Question Number : 127 Question Id : 9497305704 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Match List-I with List-IT and selectthe€orreet answer using the given below the lists.

List-I (Defects in timber) L1st-IT (Defect due to)

A. Knot a. Crushing during growth

B. Shake b. Fungi attack

C. Rot c. Excessive heat. wind or frost

during the growth

D. Upset d. Fallen branches during
growth

Options:

@ A—-d.B-c. C-b.D-a
5 % A—a&B-b. C-c.D-d
5 % A-b.B-c¢c. C—-d. D-a
4 % A-=d.B—-2a C-b, D—c

Question Number : 127 Question Id : 9497305704 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25



- | % Fry gE=- | @ e 3R A= & o gt @ 9EeT X " 3o
T TTT FL
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A7 a. f& F SR FAT FT=AT
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C.qe c. gfe ¥ v scafas =off, gar o1 3¢
D. 38T d. 3fF F 2R Oy g5 emEw
Options:

1« A-d,B-¢,C-b,D-a
s % A-apB-b G- D-d
=8 A-b,B-¢c,C-d,D-a
+% A-d, B-a,C-b, D-c

Question Number : 128 Question Id : 9497305705 Question Type: MCQ Option Shuffling:.Yes
Correct: 1 Wrong: 0.25

The role of super plasticizer in a cement paste is to:
Options:
,  Disperse the particles

~» % Disperse the particles and to remove air bubbles

- % Disperse the particles. remove aiy bubblesiand to retard setting

4, % Retard setting

Question Number : 128 Question Id : 9497305705 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

TR carEdrEE B HiFw @ 9 ¥ el # g ¢
Options:

lfma#%m-ﬁmm#ﬁv
L T & A HR g JEEe F QY FA F O
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Question Number : 129 Question Id : 9497305706 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25



Match List-I (Property of cement) with List-IT (Testing apparatus) and select the correct
answer using the given lists.

List-I (Property of cement) List-TI ( Testing apparatus) A. Specific
gravity a. Blain's apparatus

B. Setfing time b. Le chatelier's flask

C. Soundness c. Compressometer

D. Fineness d. Autoclave

e. Vicat's apparatus
Options:
. # A-¢c,B-eg C-a, D-Db

5 % A- b, B-e. C-a.D-d
= k=B, B~ e C-d,D=3
4. R A—-e B-c¢. C—-d, D-a

Question Number : 129 Question Id : 9497305706 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

- | (@ & 7oT) F J G- | (THETor 39 & A AR
At & T AT FT TA9RT FT FE e} H AqT Bl

- | (dee & o) - 1) (SraToT 3TN
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B. ¥AT9AT & §HT b. =g eferd FaTES
C. gear c. BAIFHET
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Options:

18 A-¢c, B-eGaa D-b
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sph=~byB-eC-d D-a
gon A€ B-G C~d D.-8

Question Number : 130 Question Id : 9497305707 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Specific surface of Portland cement should not be less than:
Options:

. = 2300 cm¥gm

5 % 2000 cmm+/gm

g8 2
5 o 2250 cm¥gm



4 % 2250 m%ke

Question Number : 130 Question Id : 9497305707 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

gieets Here #1 fAfdre gag T & &7 F81 g Jfev:

Options:

. % 2500 3w
5 % 2000 FH?/a
5 » 2250 BHE/am
4 % 2250 #Hr/fFam

Question Number : 131 Question Id : 9497305708 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Direct ranging is possible only when the end stations are:
Options:
1 % Close to each other

5 % Not more than 100 m apart

5  Mutually intervisible

, % Located at highest point in the sea

Question Number : 131 Question Id : 9497305708 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

gegeT o = @9 &, =9 9 T I

Options:
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Question Number : 132 Question Id : 9497305709 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The angle of intersection of the horizon glass and index glass in an opfical square is:

Options:
1 % 30°

> o 45°
3 # 60°



Question Number : 132 Question Id : 9497305709 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

TR Hifeewar I91 H Bfas &= 3t 299 79 F g5=tea & For &
Options:

1 % 30°
2 v 45°
=z # 60°
4 8 75°

Question Number : 133 Question Id : 9497305710 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The power of a telescope to form distinguishable images of objects separated Dy small
angular distance is its:

Options:
1 % Definition

~ u DBrightness

5 w Sensitivity

4  Resolving power

Question Number : 133 Question Id : 9497305710 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

oTEA & 98 ofed T fF 98 ok Sl gRar W 3T Mo Mo
UETTAT ST 3o ©i9dr 8T 245 & 38 FEaar &

Options:
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Question Number : 134 Question Id : 9497305711 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The method of levelling in which the height of mountain are found by observing the
temperature at which water boils 1s known as:

Options:

, % Barometric levelling

5 8% Reciprocal levelling

- w Longitudinal levelling

4 « Hypsometry



Question Number : 134 Question Id : 9497305711 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

HAAA & 98 Tl Fad Fdr 939 &1 F912 F7 997 9 & 3990 &
JA9ATR I8 T FF O Far § 9F 7

Options:

4 v B39 "“i

Question Number : 135 Question Id : 9497305712 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The line joining the points having the same elevation above the datum surfacesis called:
Options:
1 % Contour surface

= « Contour line
= % Contour interval

4, % Contour gradient

Question Number : 135 Question Id : 9497305712 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

$TH TAE F FW TAA Ieade W 0 oF gt & e arer o
FEoTdl g

Options:

-
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3"
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Question Number : 136 Question 1d : 9497305713 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The contour lines can cross one another on map only i the case of:
Options:
1 % A vertical chiff

5 @ Avalley

5 % Aridge

4  Anoverhanging cliff



Question Number : 136 Question Id : 9497305713 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

et & ¥ forw fufor & AERT T X a8 T g@l & Fed gu
=T FHAT 82
Options:
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Question Number : 137 Question Id : 9497305714 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

In route surveys the most suitable method of contouring 1s:
Options:
L % By squares

5 % BY radial lines

5 « BY cross-sections

i % By tacheometer

Question Number : 137 Question Id : 9497305714 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

HET FIETOT H FEET T FIH ITIF g &

Options:
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Question Number : 138 Question Id : 9497305715 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The method of surveying in which field work and plotting work are done simultaneously is
called:

Options:

, % Compass surveying

» % Levelling

-  Plane tabling



, % Chain surveying

Question Number : 138 Question Id : 9497305715 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

gIeTuT FT I Jder TEH Fres F1 i e w1 vk oy Y I § EE

Options::

1 ® FITH FAETOT
o % wETET

5 THATA EFToleT
4 ® T FAeToT

Question Number : 139 Question Id : 9497305716 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The method of plane tabling commonly used for establishing the instrument stations only.
18!

Options:

1 % Method of radiation

- % Method of intersection

5 ® Method of traversing

4 + Method of resection

Question Number : 139 Question Id : 9497305716 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

THAS <HToT 7 I8 U ST GIURUTEAT del 39RI0T EEoET S TOT9aT H
IgFd BT 8, TE &

Options:
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Question Number : 140 Question Id : 9497305717 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

A branch of surveying in which the horizontal and vertical distances of points are obtained
by instrumental observations 1s known as:

Options:

, % Chain surveying

» w Plane table surveying



-  Tacheometric surveying

4, % Hydrographic surveying

Question Number : 140 Question Id : 9497305717 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Faeror $r IE owr o REgHt F afaw R sFEad gRar 3veor wmaia
Q& § 9rd BT § 9% &2

Options:
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Question Number : 141 Question Id : 9497305718 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The headquarters of survey of India is located at:

Options:
1 # New Delhi

> % Mumbai
% % Manali

4 + Dehradun

Question Number : 141 Question Id : 9497305718 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

AT HAETUT & HETod T8 g

Options:

|« 7% fEeel
7

5 % FeATAl
5 v ST

Question Number : 142 Question Id : 9497305719 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The line to be measured accurately in a chain survey is:
Options:
1 % main line

- « base line



= % check line

4 % detail line

Question Number : 142 Question Id : 9497305719 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 143 Question Id : 9497305720 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which one of the following is not used in sefting perpendicular?
Options:

,  Lineranges
> % Cross staff

- % Optical square

4, w Prismsquare

Question Number : 143 Question Id : 9497305720 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

T 7 ¥ v 5 99cd TYT &7 § 39919 Jar [&ar I &

Options:
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- # HIfCeher o7
4 # B=F o7

Question Number : 144 Question Id : 9497305721 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Which one of the following is wrong about level surface?
Options:
, « Itishorizontal plane

- % Itis asurface parallel to mean spheroid of earth

= w Allthe points lying on this surface are equidistant from the centre of the earth



4 % Itisnormal to plumb line at all point

Question Number : 144 Question Id : 9497305721 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 145 Question Id : 9497305722 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The point on which both foresight and back sights are taken is:
Options:
, « Change point

- % First station point in the traverse

- % Laststation point in a traverse

4 % The point where level is to be set

Question Number : 145 Question Id : 9497305722 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 146 Question Id : 9497305723 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Method of square is suitable for contouring.
Options:

, % Hilly terrain

= % Forest

- #% Urban area



4 + Plains

Question Number : 146 Question 1d : 9497305723 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Question Number : 147 Question Id : 9497305724 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The instrument used for reducing a plan is known as:
Options:
1 % Clinometer

- % Planimeter
-  Pantograph

4 % BSextant

Question Number : 147 Question 1d : 9497305724 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

U o & U2 & o7 399iET & oaT S JTer 39T &

Options:

Question Number : 148 Question 1d : 9497305725 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

In a tacheometry. if intercept taken on a vertically held staff is inclined at 8 to horizontal.
the horizontal distance is:

Options:

1 ® kS+C

% kS cosf+ Ccosf

I'\:I

o kS cos 8+ C cos @

L

i kS sin28 +C sin @

Question Number : 148 Question 1d : 9497305725 Question Type: MCQ Option Shuffling: Yes



Correct : 1 Wrong: 0.25
S AT e Mg s W e s a8 o F FoT g ar
S o ¥

Options:
1. ® kS+C

= % kScos8@+ Ccosh
= o kS cos“8+C cos @
4 % kSsin28 +Csin 8

Question Number : 149 Question Id : 9497305726 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Match List-I with List-IT and select the correct answer using the given lists.

List-I (Nature of contour intervals) List-IT (It indicates)
A. Widely spaced Contours a. Steep ground
B. Closely spaced contours b. Uneven surface
C. Irregular contours c. CLff

D. Contours meeting at point d. Flat surface
Options:

; # A—¢,B-a C-b,D-d
o o A-dB-a.C-b.D-c
2% A—-d.B—a.C—¢c. D-D
4 % A—c. B-b.C—-d.D—-a

Question Number : 149 Question Id : 9497305726 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

- | & Ty g | & e AR A= & e gieat F 99T Y §E 3ol
FT TS F
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Options:
 w«A-¢,B-a C-b, D-d
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-4 A=d. B=e.C=5D=b
,sA-¢B-bC-d D-a

Question Number : 150 Question Id : 9497305727 Question Type: MCQ Option Shuffling: Yes



Correct : 1 Wrong: 0.25

Surveys which are carried out to depict mountains. rivers, water bodies, wooded areas and
other cultural detail. are known as:

Options:

. w Cadastral surveys

» u City surveys

-  Topographical surveys

4, % Guide map survey

Question Number : 150 Question Id : 9497305727 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 151 Question Id : 9497305728 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The maximum tolerance in a 20 mechain is:
Options:
1. % =2 mm

5 % =3 mm

I+

= o =5 mm

4 % =8&mm

Question Number : 151 Question Id : 9497305728 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

TF 20 # Fr 39 F JOFa7 gga0ar T &

Options:

Question Number : 152 Question Id : 9497305729 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25



The length of the chain is measured from:
Options:
1 % Centre of one handle to centre of other handle

- « Outside of one handle to outside of other handle
= % Outside of one handle to inside of other handle

4 % Inside of one handle to inside of other handle

Question Number : 152 Question Id : 9497305729 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

TS AT Fr TEEE AT S T
Options:

. % T 85 & $g ¥ 3T 851 & g dé
z.Jwﬁéﬂﬂ?aﬁTﬁgﬂTﬁéﬁ#aﬁ'{ﬁ
. % U 8561 & dgY ¥ 3T 85 & 3ol o
aza U F8 & I’eed § Y e85  3eed de

Question Number : 153 Question Id : 9497305730 Question Type: MCQ' Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In the cross-section method of indirect contouring. the spacing of cross-sections
depends upon:

A. Contour interval
B. Scale of plane
C. Characteristics of ground

Options:
, % OnlyA

» % OnlyAandB

= % OnlyBandC
4 ¢ ABandC

Question Number : 153 Question Id : 9497305730 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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gy ey Frar
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5 » a4 A #R B
5 % Fad B AR C
.vo A B3R C

Question Number : 154 Question 1d : 9497305731 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which of the following figures indicates the principal of traversing?

Options:
B
A
1. ¢
B
C D
- A
2. E
z %
B
s
""n._‘
) &

Question Number : 154 Question Id : 9497305731 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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4 % A

Question Number : 155 Question Id : 9497305732 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

While doing levelling in undulating tefrain it is preferable to set the level on?
Options:
, % The top of summit

5. % The bottom of a valley
5 o One side of the slope
4 % Anywhere

Question Number : 155 Question 1d : 9497305732 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

ﬁmmmwwﬂaﬁﬂm@ﬁmwmﬁmaﬁm%

Options:
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Question Number : 156 Question Id : 9497305733 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The quick and most accurate method to solve three point problem in resection type of
plane tabling is:

Options:
1 % Mechanical method

5 % Bessel's graphical method

= « Le man's trial and error method

, % [Iracing paper method

Question Number : 156 Question Id : 9497305733 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 157 Question Id : 9497305734 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

If a tacheometer is fitted with an anallactie lens; its:
Options:
, % Additive constant is 100, multiplying constant is zero

5  Multiplying constantis 100. additive constant is zero

- % Both multiplyingand additive constants are 100

4, % Bothmultiplying and additive constants are 50

Question Number : 157 Question Id : 9497305734 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 158 Question Id : 9497305735 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

A 30 m metric chain is found to be 0.1 m too short throughout the measurement. If the
distance measured is recordad as 300 m. then the actual distance measured will be:

Options:
1. % 300.1m

% 301.0m
« 299.0m
4 % 310.0m

v

L

Question Number : 158 Question Id : 9497305735 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

T 30 HeX 7= At 99 A7 & 0.1 HX ¥ it ff 71T F &y 9% AN
g1 Ify A 7= ¥ 300 HeX g F AT, I A T AT EF g 2

Options:

. % 300.1%r
- = 301.0%r
-« 299.0 7
. = 3100

Question Number : 159 Question Id : 9497305736 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Assertion (A): Whole circle bearing of a line is preferred to a
quadrantal bearing,
Reason (R): Bearing is completely specified by an angle.
Options:
i\ o Both A and R are true and R is the correct explanation of A

-~ % Both A and Ruate true but R is not a correct explanation of A

= % A istrue but R is false

4 # Ais false but R is true

Question Number : 159 Question Id : 9497305736 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 160 Question Id : 9497305737 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Theory of errors and adjustments deals with minimising the effects of:

Options:
1 % Instrumental errors

> % Mistakes

5 ® Systematic errors

4 « Personal and accidental errors

Question Number : 160 Question Id : 9497305737 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

et AR FEEe F e @ T F 99T # &F F9 F a9y a6

Options:
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Question Number : 161 Question Id.: 9497305738 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which one of the following is not a correct statement about alluvial soil?
Options:

, % Itisformed due to sediment transported by streams and rivers

- % It is darker in colour

-  They contain mainly iron and magnesium

4 % They are loamy soils

Question Number : 161 Question Id : 9497305738 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

T 7 8 FlF-ur v 9 B F 97 7 v 5§99 F6 87
Options:
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Question Number : 162 Question Id : 9497305739 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

A soil is said to be of medium size if the uniformity coefficient is:
Options:
1 % Lessthan 5

- « Between 5 and 10
- % DBetween 10 and 15

4 % Between 15 and 20

Question Number : 162 Question Id : 9497305739 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

v fHET T AEIH HHR & FE AT § IS FHA Tewa1 AUTF e &

Options:

, x FHEFAS

> v 5 AR 10 F &=
5% 10 3R 15 & 9=
4 % 15 3T 20 F &iF

Question Number : 163 Question Id : 9497305740 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The property of soil which permits the seepage of water is known as:
Options:
, = Porosity

-~ % Capillarity

-  Permeability

4 ® Viscosity

Question Number : 163 Question Id : 9497305740 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

s & 9= & R & v Geeer Bdr & o

Options:



4 % WAl

Question Number : 164 Question Id : 9497305741 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The average velocity of flow that will take place through the total cross-sectional area of
soil under unit hydraulic gradient is known as:

Options:
, % Uniformity coefficient

»  Coefficient permeability

- % Stoke's coefficient

4 % Darcy's coefficient

Question Number : 164 Question 1d : 9497305741 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 165 Question Id :.9497305742 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The combined effect of permeability and compressibility of a soil on the rate of volume
change is given by:

Options:

, % Coefficient of volume compressibility

» w Coefficient of permeability

= « Coefficient of consolidation

4, % Compaction factor

Question Number : 165 Question 1d : 9497305742 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 166 Question Id : 9497305743 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Shear strength of soil does not depend upon-
Options:
, % Internal friction due to interlocking of particles

- w Friction between individual particles at their constant surfaces

= % Cohesion

4  Compressive strength

Question Number : 166 Question Id : 9497305743 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Fedr 1 999 (Shear) ofFa F07 97 R 7@ @
Options:

| % TON & Heaedd & FRUT HTEN0T ]

. » FON % fFaf@a gaal o oo ;¥

o R Had 97

4 TFASE HHAT W

Question Number : 167 Question ld: 9497305744 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In a triaxial test when the drainage is allowed initially only and not during latter stage. the
test 1s known as:

Options:
1 % Consolidated drained test

- « Consolidated undrained test
= % Unconsolidated drained test

4 % Unconsolidated undrained test

Question Number : 167 Question Id : 9497305744 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 168 Question 1d : 9497305745 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Ultimate bearing capacity of soil is the:
Options:
,  Maximum gross pressure at which soils fails in shear

- % naximum net pressure at which soils fails in shear

5 % maximum pressure at which soil settles beyond the specified limit

4 % minimum net pressure at which soils fails in shear

Question Number : 168 Question Id : 9497305745 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 169 Questionld: 9497305746 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In plate load test preloading recommended by IS code is:
Options:

T / 2
s g | 0 gm/em

5 % 100 gm/cm?

s w 120 gm/cm?

4 % 125 gm/cm?

Question Number : 169 Question Id : 9497305746 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 170 Question Id : 9497305747 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Match List-I with List-IT and select the correct answer using the given below lists.

List-1I
a. Soil transported by wind
b. Soil transported by gravity
¢. Soil transported by glaciers
d. Soil deposited in lake bed

List-I

A. Talus

B. Till

C. Loess

D. Lacustrine deposit

Options:

; ® A—a.B-¢,C-b D-d
5 o A—b.B—¢c, C—a. D—d
= % A—a, B-b.C—-d. D—c
4 % A—c, B—b,C—-d. D—a

Question Number : 170 Question Id : 9497305747 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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B. o=
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Options:
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b. Iece FERT T AT A
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b B-¢,C-a D-d
a, B-b,C-d, D-c
c, B-b,C-d D-a

Question Number : 171 Question Id : 9497305748 Question Type: MCQ Option Shuffling: Yes

Correct

1 Wrong: 0.25

Earth pressure at rest is calculated using.

Options:



, % Rankine's theory

~ % Euler theory

- % Stoke's law

4 « Theory of elasticity

Question Number : 171 Question Id : 9497305748 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

T gl W OET T g9 fRF I’ ST
Options:
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Question Number : 172 Question Id : 9497305749 Question Type: MCQ OptionShuffling: Yes
Correct : 1 Wrong: 0.25

Lacustrine soils are those soils which are:
Options:
. R Deposited in sea water

5 o Deposited at the bottom of the lakes

- % [Iransported by running water

4 % [Iransported by wind

Question Number : 172 Question Id :.9497305749 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:

TR & T H A gg e §
Eldﬁafm’iiaﬁrwmgégﬁr?
T & gEnT i e A

aqlﬁ:qql{lqgirrﬁ?riﬁ‘gﬁ?ﬁ%

Question Number : 173 Question Id : 9497305750 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The water content of soils can be accurately determined by:

Options:



1 % Sand bath method
> % Calcium carbide method

=  Oven drying method

4 % Pycnometer method

Question Number : 173 Question Id : 9497305750 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 174 Question Id : 9497305751 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

When a water content in a soil is reduced beyond the shfinkage limit the soli will be in a?

Options:
1« Solid state

» % Liquid state

= % Semi-solid state

4 % Plastic state

Question Number : 174 Question Id : 9497305751 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 175 Question Id : 9497305752 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

Which of the following is a practically impermeable?
Options:
1 ®% Gravel



- % Sand mixture
= % Coarse sand

4« Clay

Question Number : 175 Question 1d : 9497305752 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

SAH T UF IEEINF §T T 39T 272
Options:
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Question Number : 176 Question Id : 9497305753 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The decrease in voids ratio per unit increase of pressure is called:
Options:
, % Coefficient of permeability

- o Coefficient of compressibility

- % Coefficient of volume compressibility

4 % Coefficient of curvature

Question Number : 176 Question Id : 9497305753 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

o & 9fT grs g 9 AT IO H FA FEA 8
Options:
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Question Number : 177 Question Id : 9497305754 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The degree of consolidation is directly proportional.
Options:
, w fotime and inversely fo drainage path



» % todrainage path and inversely to time

-  totime and inversely to the square of drainage path

4 % tosquare of drainage path and inversely to time

Question Number : 177 Question Id : 9497305754 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 178 Question Id : 9497305755 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The compression index of the soil.
Options:
. « Increases with the increase in liquid limit

» % Decreases with the increase in liquid limat

- % Increases with the decrease in plastic lunit

4, % Decrease with the increase in plastie limit

Question Number : 178 Question Id :.9497305755 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 179 Question Id : 9497305756 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The angle of internal friction of round grained dense sand is about;

Options:
j, % 5°t025°



5 % 25°t030°
5 % 30°t035°

4 ¢ 32°t037°

Question Number : 179 Question Id : 9497305756 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 180 Question Id : 9497305757 Question Type: MCQ Option Shuffling : Yes
Correct: 1 Wrong: 0.25

The maximum unit pressure that a soil can withstand without mpture in shear or without
excessive settlement of the structure, 1s called:

Options:

, » Allowable bearing pressure

~ « Safe bearing capacity

- % Ultimate bearing capacity

, % Bearing capacity

Question Number : 180 Question Id : 9497305757 -Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 181 Question Id : 9497305758 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

. . S 1 . .
If the coefficient of passive earth pressure is - . then the coefficient of active earth pressure
18:
Options:
1

1. % 3



2_231

| 03

3 %
4 o

b3

L]

Question Number : 181 Question Id : 9497305758 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 182 Question 1d : 9497305759 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

According the IS code the total settlement of isolated footings for cohesive soil should be:

Options:
1 % 30mm

= # 40 mm
= # 50mm

4 + H5mm

Question Number : 182 Question Id : 9497305759 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Question Number : 183 Question Id : 9497305760 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In case of footing in sand. if the soil pressure distribution is triangular. the maximum soil
pressure 18 the average soil pressure.

Options:

, » Equalto

> « Double



= % Three times
4 % Four times

Question Number : 183 Question Id : 9497305760 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 184 Question Id : 9497305761 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The critical height in the stability of soil is the:
Options:

, % Minimum height at which it 1s possible for the sloped bank of soil to be stable
5 « Maximum height at which it is possible for the sloped bank of soil to be stable
- % Minimum vertical height of the soil iran'open excavation

4 % Maximum vertical height of the®oil in an open excavation

Question Number : 184 Question Id : 9497305761 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 185 Question Id : 9497305762 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The predominant mineral responsible for shrinkages and swelling in black cotton soils is:

Options:
1 % Illite

- % Kaolinite



= % Mica

4 « Montmorillonite

Question Number : 185 Question Id : 9497305762 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 186 Question 1d : 9497305763 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

A cohesive soil yields a maximum dry density of 16 KN/m?® durifrg stanidard proctor
compaction test. If the specific gravity is 2.65 what would beits woid ratio?

Options:
1 % 0.552

5 « 0.624
% 0.712
4 % 0.583

L

Question Number : 186 Question Id : 9497305763 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

T HEFT (cohesive) T ATF TTaeT TUSS TI0T F ZHT 16 FTA/T7F
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Options:

. % 0.552
. » 0.624
2 % 0.712
, = 0.583

Question Number : 187 Question 1d : 9497305764 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

A well-graded sand should have:

A. Uniformity coefficient greater than 6
B. Coefficient of curvature between 1 and 3
C. Effective size greater than 1 mm



Options:

. % AB and C

5 w Only Aand B
5 % OnlyAandC

4 % OnlyBandC

Question Number : 187 Question 1d : 9497305764 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Question Number : 188 Question Id : 9497305765 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The void ratio pressure diagram is shovwn in the given figure. The
coefficient of compressibility is:

Void ratio
o
o
:
|
I

i
17.5
Pressure (t/m~)

i

‘q A ——

Options:
1 % 0.0050 m*t

> % 0.073mt
=« 0.20 m3t
4 % 0.25 m3

Question Number : 188 Question Id : 9497305765 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25



T (Void) e gad 3@ fov v By 7 fgmmar v &1 wdfsaar
(compressibility) T 3[oTF

Void ratio
o
(o)

l-hq i

1 17.5
Pressure (/m°)
Options:
. % 0.0050 H/ET
s #% 0.073 Hr3Er
= o 0.20 IT3/Er
4 % 0.25 Hr3/ar

Question Number : 189 Question Id : 9497305766 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

When the compaction energy increases. the compaetion of soils?
Options:
. w both of optimum moisture content{OMC) and maximum dry density decreases

5 % both of optimum moisture contént and maximum dry density increases
-  Optimum moisture content decreases but maximum dry density increases
4, % Optimum moisture contentinereases but maximum dry density decreases

Question Number : 189 Question Id ;9497305766 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 190 Question Id : 9497305767 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25



A static cone penetration test is usually conducted when the structure is likely to be
founded on:

Options:

1 % shallow foundations

5 o pile foundations

- % drier foundation

4, % improved ground

Question Number : 190 Question Id : 9497305767 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 191 Question Id : 9497305768 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The pressure of a liquid measured with the help of a piezometer tube is:

Options:

L % Vacuumn pressure
o o Gauge pressure
= % Absolute pressure

4 % Atmospheric pressuge

Question Number : 191 Question Id : 9497305768 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 192 Question Id : 9497305769 Question Type: MCQ Option Shuffling: Yes



Correct : 1 Wrong: 0.25
A flow whose streamline is represented by a curve. is called:

Options:
1 % One-dimensional flow

- « Two-dimensional flow
z % Three-dumensional flow

4 % Four-dimensional flow

Question Number : 192 Question Id : 9497305769 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 193 Question Id : 9497305770 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The velocity of the liquid flowing through the divergent portion of a venturi meter is:
Options:
1 #® remains constant

o % increases
= « decreases

4 % depends upon mass of liguid

Question Number : 193 Question Id : 9497305770 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Question Number : 194 Question Id : 9497305771 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

In order to measure the flow with a venturi meter. it is installed in:



Options:
1 # Horizontal line

» % Inclined line with flow upwards

z % Inclined line with flow downwards

4 « Any direction and in any location

Question Number : 194 Question Id : 9497305771 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Question Number : 195 Question Id : 9497305772 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

A weir, generally used as a spillway of a dam is:
Options:
1 ® Narrow crested weir

- % DBroad crested weir
5 o Ogee weir

4 % Submerged weir

Question Number : 195 Question’ld.: 9497305772 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 196 Question Id : 9497305773 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

Where the flow in an open channel is gradually varied, the flow is said to be?

Options:



, % Steady uniform flow

5 Steady non-uniform flow

- % Unsteady uniform flow

4, % Unsteady non-uniform flow

Question Number : 196 Question Id : 9497305773 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 197 Question Id : 9497305774 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

In open channels. the specific energy is:
Options:
, % Total energy per unit discharge

Total energy measured with respect t0 the datum passing through the bottom of the
>  channel

- w Total energy measured abovethe horizontal datum

, % kinetic energy plotted above the free surface of water

Question Number : 197 Question Id: 9497305774 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Question Number : 198 Question 1d : 9497305775 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The flow of water through the hole in the bottom of a wash basin as in example of:

Options:



w Steady flow

i

> % Uniform flow

-+ Freevortex

il

4 % Forced vortex

Question Number : 198 Question Id : 9497305775 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25
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Question Number : 199 Question Id : 9497305776 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25

The hydraulic efficiency of an impulse turbine is maximum when velocity of wheel
18 of the jet velocity.

Options:
1 % One fourth

> « One-half
= % Three- fourth

4 % Double

Question Number : 199 Question Id : 9497305776 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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Question Number : 200 Question Id : 9497305777 Question Type: MCQ Option Shuffling: Yes
Correct: 1 Wrong: 0.25

The Thomson's turbine. is reaction turbine.
Options:
1 % An axial flow



- « An inward flow
= % An outward flow

4 % A mixed flow

Question Number : 200 Question Id : 9497305777 Question Type: MCQ Option Shuffling: Yes
Correct : 1 Wrong: 0.25
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